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3.

pmax =  350 bar

Q CN =  7,5 ... 200 l/min,  2

DIN 51524 ;  ISO VG 

1500 mm2/s;  10 ... 500 mm2/s

-40 ... +80°C;  -25 ... +80°C;  

TQ 21-A TQ 32-A TQ 43-A TQ 54-A TQ3P-A TQ 4P-A TQ 5P-A
TQ 22-A TQ 33-A

 kg 0,6 0,6 1,5 3 0,7 1,6 3,1

2.
TQ 32-A 3
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C A, B

G 3/8 G 1/4

G 3/8 G 3/8

G 1/2 G 3/8

G 1/2 G 1/2
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G 1 G 3/4
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1)  TQ 21..;  Q CN , 70 l/min. ( * 8...10%)
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|p-Q-

 60 mm2/s

4.
4.1.

TQ 21-A  TQ 54-A

4.2.
 TQ 3P-A TQ 5P-A

TQ 21-A
TQ 22-A

TQ 32-A

TQ 33-A

TQ 43-A

TQ 54-A
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H B L a b c d d1 l

TQ 3P-A 30 50 60 17,5 48 40 8 10,5 9,5

TQ 4P-A 40 60 80 26 64 47 13 16 15

TQ 5P-A 50 80 104 31 80 63 15 20 15

g O-

TQ 3P-A M6, 10 tief 12,42x1,78

TQ 4P-A M8, 10 tief 18,72x2,62

TQ 5P-A M10, 10 tief 31,42x2,62

g



 1:1

TQ 32 R-B...  

21-B

22-B

32-B

33-B

TQ 32 R-B

DIN ISO 228/1

C A, B  (kg)

G 3/8 G 1/4

G 3/8 G 3/8

G 1/2 G 3/8

G 1/2 G 1/2

G 1/2 G 3/8
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TQ
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5.
5.1.

Q A max = 0,5 QCN.  
QCN
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5.2.  C A, B

|p-Q-

|
p

 (b
ar

)

 Q A (B) → C (l/min)

TQ 32 R-B 

M 8,

- A 1,6/2
TQ 2.. - A 2,3/1,4

- A 3/2

- A 2,3/3
- A 2,3/4
- A 3/2

TQ 3.. - A 3/3
- A 3,5/2
- A 3,5/3
- A 3,5/4

TQ 4.. - A 4/2
- A 4/3
- A 5/3
- A 5/5
- A 5/1,5

TQ 5.. - A 6,8/2 
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6.

6.1.
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6.2.
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